
 

HW2 dueFriday 1121

1.3 4,48ab 58
3 Eois
ReflectionQuizonCanvas due121

Injectivity Surjectivity and Invertibility

Surjectivity
Consider a Clawmachine with 3 buttons
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Infinite solutions one example
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If buttons were switches instead so e la couldgobackwards
then thiswould work for any Choice of location

Def A linear transformation T Ri Ri is surjective ont
if for every Fern there is a term such that

atleastoneTLE J

Ey a The linear transformationgivenby Iif
is surjective

6 Another Claw machine

r more s time f r more f
Can clawgoanywhere
II fog y it g rear o's

So this claw only moves along the line O y 3x

map 3,1 is not surjective

The An nxne matrix It gives a surjective linear
transformation if andonly if rank A n

r ref A has a leading I ineach row

Ifftiitatstwo kinds of pets birds and cats
Says my petshave 14legs

toeyes and S tails

Howmany birds and cats
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